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s 13,107 0 13,107
< 8,737 0 8,737
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< 8,096 0 8,096
OsP HEAGE +HZTDA(S D 194,79
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OFIIY ABHAGE 2HSTZAH(SD 11,1
50B S, 45%) 52,633,0002! * 141 52,633 0 52,633
= 34,049 0 34,049
s 11,150 0 11,150
= 7,434 0 7,434

OFIIY SAAGE 2HZPIA(SD 12,164
A, 45%) 57,418,000 » 14! 57,418 0 57,418
= 37,145 0 37,145
s 12,164 0 12,164
= 8,109 0 8,109

OFIIM HEAGHE SH=PIA(SD 23,558
B, 45%) 111,207, 0002 14! 111,207 0 111,207
2 71,943 0 71,943
= 23,558 0 23,558
= 15,706 0 15,706

OFIIY HUAGHE 2HZPBA(SD 23,981
B, 45%) 157,286, 0002 14! 157,286 0 157,286
= 109,418 0 109,418
s 23,981 0 23,981
= 23,887 0 23,887
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OZIH FUHAGHE =HERZAHEDR 11,440
HE, 45%) 54,000,000 14l 54,000 0 54,000
=2 34,934 0 34,934
= 11,440 0 11,440
< 7.626 0 7,626
OFIIH N2BAGHE LHERBAM(EL 9,14
282, 45%) 73,791,000 14l 73,791 0 73,791
=2 53,065 0 53,065
s 9,142 0 9,142
< 11,584 0 11,584
OFIH UYTAGE =HERZAH(EDR 26,112
HE, 45%) 154,774,000 »1 Al 154,774 0 154,774
=2 105,607 0 105,607
= 26,112 0 26,112
< 23,055 0 23,055
OFIIH REXF LHERIAH45X)
745,226,000 x 14! 745,226 0 745,226
=2 745,226 0 745,226
03 Al 2 HH 8,000 0 8,000
OAStASMNER I AL A& 2T Y
8,000,000 * 14l 8,000 0 8,000
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